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St. Mary’s School, Dwarka 

              Holiday Homework 

                             Std. XI 

Week 3 

Worksheet 3 

 

Subject: English 
 

General Instructions: Attempt questions based on specific instructions for each section.  

 

SECTION A- Reading  

  Q1. Read the following passage carefully. 

 

1. The seasonal problem of water taps running dry is plaguing most of our major cities. With the 

bigger rivers flowing in trickles, ponds and wells have been reduced to clay -pits, village women 

in remote areas have to  fetch every drop of water for drinking, cooking, washing and so on, across 

large distances. This has only worsened a perennial problem, that of widespread pollution of 

water, rendering it unfit for human consumption. The monsoons and the floods will not solve this 

problem. 

 

2.The Delhi Government is seriously worried about the threat to civic health posed by the polluted 

waters of the Yamuna. Two main tanks are to be set up to treat sewage. At present, only 60 percent 

of the 200 million gallons of the city’s sewage receives any kind of treatment before it is dumped 

into the river which supplies water not only to this city but to innumerable towns and villages 

downstream. The Ganga, the Yamuna and the Kaveri. In fact, all our important rivers serving 

many urban conglomerations, are fast becoming a major source of diseases. 

 

3.A comprehensive bill introduced in the Parliament recently, envisages the setting up of central 

and state boards for the prevention and control of water pollution. But it will obviously take some 

time before legislation is passed and effectively implemented. Meanwhile, the problem continues 

to swell. According, to a survey of eight countries conducted a couple of years ago, 90 percent of all 

child deaths were                              due to water-borne diseases. It is the same unchanged story today. 

4.In a country like India, a burgeoning population continues to use the open countryside as a 

lavatory.  This means that with every dust storm and rain, human excreta laden with germs and 

parasites find their way to                             ponds, shallow wells and even streams and rivers. Only 18 percent of the 

rural folk have access to potable water. 

5.A new threat that has already assumed alarming proportions is industrial waste which is generally 

dumped untreated into the nearest river. For Instance, for every kilogram of process hide, 30-40 

liters of foul-smelling, wastewater has to be disposed off. There are at least 900 licensed tanneries 
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in the organized sector. Putrefied paper and jute waste, metallic salts and corrosive acids all find 

their way to the rivers of India. 

6. It is important not only to make new laws to ensure the purity of water, but also to realize the 

urgency of implementing them ruthlessly if we are to avoid a national health disaster cutting across 

the barrier between                              towns and the countryside. 

 

Based on your understanding, answer the questions given below:               (1x5=5) 

  i. What are the perennial problems plaguing our cities? 

ii State the reasons mentioned in Paragraph 2 that are threatening the residents of Delhi. 

1. Zero groundwater level 

2. Lack of potable water 

3. Lack of the treatment of sewage 

4. Yamuna is over-polluted 

5. Open untreated water 

 

A. 1,3 and 5 

B. 3 and 4 

C. 1.2 and 6 

D. 3.5 and 4 

 

iii Supply 1 point to justify the following.  

The most child deaths in India are due to lack of potable water. 

 

iv . Evaluate the most appropriate purpose of the bill mentioned in the passage:  

A. It creates financial scope for water treatment facilities 

B. It creates Central and State boards to control water pollution. 

C. It looks into the effective implementation of legislation. 

D. It looks into the proper treatment of water bodies. 

 

 v. Select the cause NOT MENTIONED in the passage which poses new threat to the nearby   

rivers.  

A.  Regular disposal of wastewater from the industries. 

B. Presence of licensed tanneries in the organized sector. 

C.  Disposal of putrefied paper, jute waste and corrosive acids. 

D. Foul smelling untreated wastewater from homes and offices. 

 

SECTION B--Literature 

Answer the following questions in 20 to 30 words.  (2x2=4) 

 

Q2. Why did the narrator become curious about the possessions of her mother?  
Q3. What was the happiest moment of the day for the grandmother? 
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Answer the following questions in 60 to 80 words.  (3x2=6) 

Q4. “Religion was the dominant feature of her life.” Comment on this statement with regard to 

Khushwant  Singh’s grandmother as discussed in the lesson ‘The Portrait of a Lady’. 

Q5. What reason did Mrs. Dorling give to the narrator’s mother to take her belongings? How does the 

mother come to know about Mrs. Dorling and her address?  

                                                              

SECTION  C—Grammar          (1x2=2) 

Q6. Select the option that identifies the error and supplies the correction for the  following line, 

from a news report: 

     Climate changes is one of the most contested debates. 

 

OPTION ERROR CORRECTION 

A Climate Climates 

B changes change 

C one a 

D most mostly 

 

Q7. Select the correct option to complete the dialogue between Deepak and Sunil. 

Deepak: How are you? 

Sunil: I’m good. What about you? 

Deepak: I’m well physically but not mentally. 

Deepak asked Sunil …………….  .  Sunil replied that he was good and continued to ask about 

Deepak’s                               well-being. Deepak said that he was physically well but not mentally fit. 

A. how he was 

B. how was he? 

C. how did he do? 

D. how does he do? 

SECTION D--Writing 

Q8. You are the Managing Director of Varun Enterprises, a leading garments export house. You need  

 accountants for your Meerut office. Write an advertisement for the ‘Situation Vacant’ column of a 

local daily.             (2) 

 

Q9. Due to the globalization of the food industry and fast food culture, traditional healthy diets are  

       increasingly being replaced by unhealthy junk food containing artificial additives and chemicals.    

      Write an article in 150-200 words for a national daily on the need for inculcating healthy dietary  

       habits.                 (4) 

 

Q10.Book Trailor- Read a book by your favourite author and make a short 1-minute video to     

         launch it.                                                                                                                                (2) 
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Subject: Mathematics  

 

Q.1) If (x + iy)1/3 = a + ib , then find the value of  
𝑥

𝑎
 + 

𝑦

𝑏
 .                                                        (2) 

Q.2) Two finite sets have m and n elements. The number of elements in the power set of first set is 56 

more than the total number of elements in the power set of second set. Find the values of m and n. (2) 

Q.3) Evaluate √2 − 2√3𝑖                                                                                                         (2) 

Q.4) List the elements of the following sets:                                                                            (2) 

(i) { x: x ∈ Z and x ≤ - 5} ∩ { x : x ∈ Z and x ≥ - 5 } 

(ii) {x : x + 2 > 3} ∩ { x : x < 5} where x ∈ N. 

Q.5) Find the radian measures corresponding to the following degree measures:                   (2) 

 (i) 104°36’                              (ii) 270° 

Q.6) If a2 + b2= 1, then prove that 
1+𝑏+𝑖𝑎

1+𝑏−𝑖𝑎
 = b + ia.                                                                   (3) 

Q.7) Prove that 
tan( 𝐴+𝐵)

cot( 𝐴−𝐵)
 = 

sin2 𝐴 − sin2 𝐵

cos2 𝐴−𝐶𝑜𝑠2𝐵
                                                                                    (3) 

Q.8) Convert 1 + cos x + i sin x into polar form.                                                                     (3) 

Q.9) The combined membership of the Mathematics Association and Science Club is 122. What is the 

membership of Science club if 50 are known to be members of Mathematics association and 28 are 

members of both the organisations?                                                       (3) 

Q.10) Write the following sets in the roster form:                                                                (1+2) 

(i) A = {x: x is a positive factor of a prime number p} 

(ii) Y = {x: x is a positive factor of the number 2p -1(2p- 1) where 2p -1 is a prime number} 
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Subject: Informatics Practices 

 
Q1 What does a cross platform language mean?       1 

Q2 Following set of commands are executed in shell, what will be the output?   1 

>>>str="hello python" 

>>>str *2 

Q3 Which of the following identifiers are invalid? Give reason for its invalidity.   1x3=3 

     a) 90_a = 1             b) a-6 = 1                 c) break = 7 

Q4 Convert the following hexadecimal numbers into decimal numbers:    2 

a) ABCDEF b) BCA 

Q5 Write the purpose of id( ) and type ( ) functions in Python.    2 

Q6 Add the following binary numbers:        2 

a) 11001111 +1010110 b) 110010101+10100100 

Q7 Convert the following decimal numbers into octal numbers:     2 

a) 56 b) 782 

Q8 Convert the following octal numbers to binary numbers:     2 

a) 743 b) 612 

Q9 What is the difference between keywords and identifiers?    2 

Q10 What are the advantages and disadvantages of working in the interactive mode 

in Python?            2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Page 6 
 

Subject: Economics 

 
Q1. Explain the factors affecting elasticity of demand.      (2) 

Q2. Write three exceptions of law of demand.        (2) 

Q3. What do you mean by consumer’s equilibrium? Explain.       (2) 

Q4. A consumer has Rs 40 and both goods X and Y are priced at Rs 20 and are available in  

      integer units, (a) Give the bundles that this consumer can afford (b) give the bundles that  

       cost exactly Rs 40.            (2) 

Q5. Give reasons for the following statements:          (2) 

1) If the income of a consumer changes and prices of the two goods remain unchanged, a new budget 

line will be formed which will be parallel to the original line. 

2) If the income of the consumer remains unchanged and if the price of goods X rises, intercept of the 

budget line of Y-axis will remain the same, but on the X-axis it will shift to the left. 

Q6. Giving reasons, comment on the following statements:       (3)  

a)A consumer’s equilibrium is always formed at a point on the given budget line. 

b) A consumer’s equilibrium will shift to a higher indifference curve with an increase in consumer’s 

income. 

Q7. Giving reasons, state why the following two conditions must be satisfied when a consumer is in 

equilibrium.             (3)  

a)A budget line must be tangent to an indifference curve. 

b) Marginal rate of substitution must be diminishing. 

Q8. Explain market rate of exchange.         (3) 

Q9. Derive the law of demand from the two commodity equilibrium condition “Marginal  

       Utility = price ratio through utility approach”.        (3) 

Q10. Describe the assumption which is made to determine the consumer’s equilibrium position. (3) 

Project Work  

 

a)Make a project on OPEC. Follow the instructions given below 

Guidelines for Project Work in Economics (Class XI ) The objectives of the project work are 

to enable learners to: • probe deeper into theoretical concepts learnt in classes XI  • analyse 

and evaluate real world economic scenarios using theoretical constructs and arguments • 

demonstrate the learning of economic theory • follow up aspects of economics in which 

learners have interest • develop the communication skills to argue logically 

 

The expectations of the project work are that: • learners will complete  Two projects • project 

should be of 3,500-4,000 words (excluding diagrams & graphs), preferably hand-written • it 

will be an independent, self-directed piece of study. 
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 Scope of the project: Learners may work upon the following lines as a suggested flow chart: 

Choose a title/topic Collection of the research material/data Organization of material/data 

Present material/data Analysing the material/data for conclusion Draw the relevant conclusion 

Presentation of the Project Work 11 

 

 Expected Checklist: • Introduction of topic/title • Identifying the causes, consequences and/or 

remedies • Various stakeholders and effect on each of them • Advantages and disadvantages of 

situations or issues identified • Short-term and long-term implications of economic strategies 

suggested in the course of research • Validity, reliability, appropriateness and relevance of data 

used for research work and for presentation in the project file • Presentation and writing that is 

succinct and coherent in project file • Citation of the materials referred to, in the file in 

footnotes, resources section, bibliography etc.  
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Subject: Accountancy 

 
Q.1 M/s Future Ltd. has invested Rs.10,000 in the shares of Relicam Industries Ltd. Current market 

value of these shares is Rs.10,500. Accountant of Future Ltd wants to show Rs.10,500 as value of 

investment in the books of accounts, which accounting convention restricts him from doing so? 1 

Q.2 Which principle is formulated based on the understanding that actual profit or loss can be 

ascertained only at the time of winding up of business but to provide information to users, the life of 

business is divided into regular intervals?        1 

Q.3 A person to whom money is owed by the business is called ....     1 

Q.4 ................ deals with the provision of necessary accounting information to people within the 

organisation to enable them in decision-making, planning and controlling business operations. 1 

Q.5 Akbar started a automobile hardware shop on 1st April, 2020. During the year ended 31st 

March, 2021 Akbar has been taking 33,500 every month from the business to meet the expenses for his 

family. In July Akbar had also taken 10,000 more to pay for fees of his daughter and he bought a 

laptop for is daughter for 40,000 by the cash taken from the business. He has also taken some hardware 

items worth 6,000 from the business for repair of his personal car and scooty of his wife. What is the 

drawings made by Akbar during the year ending on 31st March, 2021?    1 

Q.6 Saloni runs a boutique. She bought some fabric pieces for 15,000 for making dresses and also 

bought buttons, laces, threads etc for 12,500. She paid 3,500 to her tailor and 2,500 to her office boy. 

She sold a table and chair set which she did not need any more. This table and chair set had cost her 

7,000 and she sold it for 7,500. She also sold some dresses which had cost her in total 12,000 for 

16,000.  

 You are required to answer the following questions.  

 (a) Did Saloni made any profit, and if she made how much profit did she made? 

  (b) What is amount of gain if any for Saloni?      3 

Q.7 Explain any two functions of Accounting.       3 

Q.8 What is Accounting? Explain its disadvantages.      4 

Q.9 Determine if the following are assets, liabilities, revenue or expense :   4 

  (a) Machinery    (b) outstanding rent  (c) creditor   

(d) salary paid to worker   (e) interest received  (f) sales  

(g) prepaid expense  (h) depreciation 

Q.10 Explain Accounting as an Information System.      6 
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Subject: Business Studies 
 

Q.1 In which specific form of business organization membership is by birth?   1 

Q.2 In which occupation people work for others and get remunerated in return?  1  

Q.3 What reward a businessman gets for bearing the risks?     1  

Q.4 Why is it essential to make a profit in a business?      

Q.5 ‘Taking photographs of mountains as a hobby is an economic activity.’ Do you agree? Give 

reasons.           1 

Q.6 “Business risks take place due to carelessness of people only.” Do you agree? Give reasons.3 

Q.7 What is Industry? Explain the various types of industries.     3 

Q.8 Rajagopalan is running a take away fast-food joint in Assam under the name ‘Taste of Assam’. 

  Recently, when his cousin Devidayal organised a party at his place he had placed an order for 

  food at ‘Taste of Assam’ worth ` 7,500. However, Rajagopalan decided not to take the money 

  from Devidayal because of his love and affection for him. 

  (i) Will this activity related to the supply of food from Rajagopalan’s restaurant to Devidayal 

  be classified as a business activity? Why or why not? 

  (ii) State the feature of business reflected above.       4 

Q.9 After completing their graduation, Salman and Ram decided to set up a flour mill to earn 

income. Their main job is to purchase wheat from the market and have ground it into flour. 

Their flour is available in the packets of 5 kg, 10 kg and 20 kg. They sell these under the brand 

name 'Desh ka Atta', and earn a reasonable profit of 10% of cost. They worked very hard to 

flourish the business of a regular basis, and hence in no time their brand became very popular 

in the market. The main reasons for the success of their business are superior quality and low 

price. Their business was running very well But one day, the flour mill caught fire, and as a 

result they had to suffer a heavy loss. However, Salman and Ram did not lose their heart, and 

worked even harder. Gradually, their business was back to normal Now, they are fully satisfied 

with their business. Quoting the lines from the above paragraph, identify any four 

characteristics of business.          4 

Q.10 One man control is best in the world if that one man is big enough to manage everything.’ 

Explain.            6 

 

 

 

 

 


